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Questions 1 through 4 refer to the following
passage.

Three major economic systems exist in the

world today: capitalism, communism, and

socialism. The main differences in the systems

are the ways ownership and decision-making
are treated.

Capitalism, the economic system favored by

the industrialized western world, allows for
private ownership of goods and the means of
production. Decisions and planning are in
private hands.

Under communism, the economic system of
countries like North Korea and Cuba, the state

owns the means of production and plans the
economy. The basis of communism is that, in

theory, all individuals contribute their best effort

to the good of the community and in return
receive everything they need.

Socialism is similar to communism in that the

state owns all major means of production and
plans the economy for the good of all. But

socialism encourages competition among smail

businesses. The state provides certain social
services for its citizens, such as free or
inexpensive health care.

In the modern world, these economic systems

have become confused with political systems.

Because communism and socialism depend so

much on central planning, they have become

associated in people’s minds with dictatorship.

Capitalism, because it is built around private

ownership and free enterprise, is associated with

democratic or representative government.

1. According to the passage, how are
capitalism and socialism similar?

(1) The state owns production.

(2) The state plans the economy.
(3) Smalt businesses can compete.
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) All people have everything they need.

)} People have economic and political
freedom.

2.

What do capitalism and communism have in
common?

(1) Economic planning is in private hands.
(2) Individuals work for the common good.
(3) They require democratic government.
(4) They are economic systems.

(5) The state owns all businesses.

Which conclusion is supp'orted by the
passage?

(1) Individual freedom is associated with
capitalism.

(2) In the past, socialist economies have
failed. '

(8) Under communism, people can get rich.

(4) Capitalism can do well under a
dictatorship. .

(5) Politics and economics have nothing to
do with each other.

. What additienal information do you need

to draw the conclusion that the theory of
communism differs from the reality?

(1) only what is stated in the passage

(2) what the theory of communism is

(3)" what the reality of communism is

(4) more details about communist theory
(5) how socialism differs from communism

Many manufactured products carry a

" warranty. A warranty promises that, if the

product is defective, the manufacturer will
repair it. What concept of economics do
warranties illustrate?

(1) capitalism

(2) consumer protection

(3) the gross domestic product
(4) supply and demand

(5) communism





